[/ZHBDES

extern int Magic = 1111;

extern int Stop_Loss = 100;
extern int Trailing_Stop = 50;
extern int Minimum_Profit = 50; 4— 1.

int Ticket = 0;

double Pips = 0;

//BEDESR
double AdjustPoint(string Currency)

{
int Symbol_Digits = MarketInfo(Currency,MODE_DIGITS);

if(Symbol_Digits == 2 || Symbol_Digits == 3)

{
double Calculated_Point = 0.01;
b <4+ 2.
else if(Symbol_Digits == 4 || Symbol_Digits == 5)
{
Calculated_Point = 0.0001;
b
return(Calculated_Point);
¥ _
int init() ]
{ . . -
Pips = AdjustPoint(Symbol()); «— 3.
return(0);
b _
int start()
{

J/RERTS 3 > ORFNIE A SEih

//T> kU —s0i8
J/IBEWI> R —
if(EWWI> bU—Z44)

{
Ticket = OrderSend(---,0OP_BUY,---,Ask,--,Bid - Stop_Loss * Pips,---,---,Magic, -, **);
} $ P
//FEDIT> KU — (1)
if(GENIT> U —%AF)
{

Ticket = OrderSend(---,OP_SELL,---,Bid,---,Ask + Stop_Loss * Pips,-:-,-:-,Magic,*-,"**);

} ? o

/I hL—=U TR T (2)
for(int i = OrdersTotal() - 1; i >=0; i--)
{
if(OrderSelect(i,SELECT_BY_POS,MODE_TRADES) == true)
{

[IBULIRS S 3 > DigE
if(OrderType() == OP_BUY)
{
double Max_Stop_Loss = Bid - Trailing_Stop * Pips;
Max_Stop_Loss = NormalizeDouble(Max_Stop_Loss,MarketInfo(Symbol(),MODE_DIGITS));

double Current_Stop = NormalizeDouble(OrderStopLoss(),MarketInfo(Symbol(),MODE_DIGITS));

double Pips_Profit = Bid - OrderOpenPrice(); €4—(1)
double Min_Profit = Minimum_Profit * Pips; €4—(2)

/3B DR DZEE
if(OrderMagicNumber() == Magic && OrderSymbol() == Symbol() && Current_Stop < Max_Stop_Loss && Pips_Profit >= Min_Profit)
{
bool Modified = OrderModify(OrderTicket(),OrderOpenPrice(),Max_Stop_Loss,0,0); ?
b (3)

b
//FEDIRZS 3 > DIFE
else if(OrderType() == OP_SELL)
{
Max_Stop_Loss = Ask + Trailing_Stop * Pips;
Max_Stop_Loss = NormalizeDouble(Max_Stop_Loss,MarketInfo(Symbol(),MODE_DIGITS));

Current_Stop = NormalizeDouble(OrderStopLoss(),MarketInfo(Symbol(),MODE_DIGITS));

Pips_Profit = OrderOpenPrice() - Ask; €4—4)
Min_Profit = Minimum_Profit * Pips; €4—(5)

/BN D& DZEE

if(OrderMagicNumber() == Magic && OrderSymbol() == Symbol() && (Current_Stop > Max_Stop_Loss || Current_Stop == 0)
&& Pips_Profit >= Min_Profit) — 6

{ "
Modified = OrderModify(OrderTicket(),OrderOpenPrice(),Max_Stop_Loss,0,0);

b

b
b
b
return(0);




